Review Q & A - Nov. 17

Written Test 2

Bridge Controller Lecture
Practice Questions
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Each of Labels (1) to (7) denotes the justification for transforming the two neighboring sequents. Drag and drop
the appropriate inference rule; otherwise, drag and drop "NONE" to indicate that no rule can be used for the

transformation.
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You are required to attempt proving the above sequent, using the inference rules as listed here: https://
www.eecs.yorku.ca/~jackie/teaching/lectures/2022/W/EECS3342/notes/inference-rule-examples-1.pdf

¢ 1st inference rule to use (if applicable): [MON]
¢ 2nd inference rule to use (if applicable): [?]
¢ 3rd inference rule to use (if applicable): [n.a.]

e 4th inference rule to use (if applicable): [n.a.]
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